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Question 1 
 
Don Hilton has a small business which manufacturer’s small toys. He has produced 
a summary of his costs and revenues below and has asked you to produce some 
management information. 
 
 
 Fixed Costs: = €300,000 
 
 Variable Cost: = €20 per unit 
 
 Forecast output (Sales): = 20,000 units 
 
 Selling Price: = €50 per unit 
 

 
 
 
 
Required: 
 

a) Calculate the Breakeven points in Units                1 Marks 

 

b) Calculate the Margin of Safety in Units                1 Marks 

 
c) Draw a Breakeven graph and interpret your findings      8 Marks 

   

d) Evaluate the usefulness of break- even analysis as a tool for  

 decision making.   10 Marks 
 

 

 

          20 Marks 
 

 
 
 
 
 
 

PLEASE TURN THE PAGE 
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Question 2 
 
Quant Air Ltd is considering investing in the following project.  
The company anticipates a start-up investment cost of £3,000,000 for Project X. 
The project will have a lifespan of 5 years.  The net after tax cash flows of the 
projects are as follows:- 
 
   Project X (£)                
 
   
 1   675,000                            
 2   850,000                   
 3   850,000                            
 4   850,000                            
 5   800,000                   
 

 Note: Use a Discount factor of 10%. 
 

 
a) Calculate the NPV of Project X.                                             (5 Marks) 

 
b) Calculate the Internal Rate of Return of Project X (4 Marks) 

 

 
 

c) Justify, with reasons, whether the project should be undertaken. Consider 
financial and non-financial factors 
     
                                                                   (5 Marks) 

 
d) Evaluate the NPV method of project appraisal. 

                                                                                  (6 Marks) 
 

 

 
 

          20 Marks 
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Question 3 
 
Dawn Plc is undergoing a review of the companies risk management process. 
You are the finance manager of Dawn Plc and you have been asked by the board of 
directors to produce a report on the importance of risk management and to discuss 
the elements of the risk process that should be embedded in the risk management 
process at Dawn Plc. 
 

 (20 Marks) 
Question 4 

 

Experian Company has provided you with the financial statements for the last three 

years.  

Experian Company Income Statement for the year ends 

     

 
2017 2018 2019 

     £'000 £'000 £'000 

        
Revenue     26,000 28,850 29,000 

Cost of sales    12,000 12,500 13,000 

        
Gross Profit    14,000 16,350 16,000 

        
Distribution Costs    5,500 5,200 5,800 

Administration Costs   3,000 3,150 3,050 

        
Profit from Operations   5,500 8,000 7,150 

        
Finance Costs    400 410 400 

        
Profit Before Tax    5,100 7,590 6,750 

Tax     1,200 1,210 1,250 

        
Profit for the period   3,900 6,380 5,500 
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Experian Company Statement of Financial Position 

    2017 2018 2019 

    £'000 £'000 £'000 
Non-Current 
Assets      
Property, Plant and Equipment 11,800 12,000 12,500 

       
Current Assets      
Inventories   5,100 5,000 5,200 
Trade 
Receivables   4,500 4,750 4,600 

Cash    700 1,000 900 

       
Total Assets     22,100 22,750 23,200 

       
Equity & 
Liabilities      

       
Share Capital   5,100 5,000 5,600 

Share premium   1,500 1,500 1,500 

Revaluation   1,000 1,000 1,000 
Retained 
Earnings   6,800 6,900 6,800 

Total Equity   14,400 14,400 14,900 

       
Non-current liabilities     

       
Loan    4,200 4,500 4,600 

       
Current 
Liabilities      
Trade & other payables  2,100 2,400 2,250 

Tax    1,400 1,450 1,450 

Total Liabilities   7,700 8,350 8,300 

       
Total Equity & liabilities   22,100 22,750 23,200 
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Note: 
 
Experian Company has £10m ordinary shares in issue. 
Share price currently is £9.60 
Dividends paid during the three years were 2017: £1,000,000 – 2018: £950,000 – 
2019: £1,200,000 
 
 
 
Required: 
 

a) Calculate any relevant ratios for the years 2017 to 2019  

 
   6 Marks 
 

b)  

 Discuss the performance of the company between 2017 and 2019. 
      
                                                             14 Marks 
 
 

20 Marks 
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Question 5 
 
Digit Company has provided you with the following standard and actual costs. 
 
 
Standard cost card - Digi   Quantity Cost                                  Total unit cost £ 
Material RM2    4 kg £1.20 per kg  4.80  
Labour – grade II    1.2 hrs £8.00 per hr  9.60 
Fixed Overheads    1.2 hrs £15.00  18.00
       
Total standard cost per unit   32.40 
 
The standard cost for a Digi was calculated assuming a budget output of 5,000 units 
 
Actual Costs/units 
 
During the last production period the actual output was 5,600 units.  
22,960 kg of material was used at a total cost of £28,700. 
 
Labour – Grade II – 8,000 hours worked at cost of £72,000. 
Actual Overheads   £92,000 
 
Required 
 

a) Calculate 

i) Material Price Variance       1 Marks 

ii) Material Usage Variance      2 Marks 

iii) Labour Rate Variance      1 Marks 

iv) Labour Efficiency Variance      2 Marks 

v) Fixed Overhead Volume variance     2 Marks 

vi) Fixed Overhead capacity variance     2 Marks 

 
b) Discuss possible reasons for the adverse or favourable variance calculated   

In your answer to a) above.       10 Marks 

 
 
 20 Marks 

 
 

END OF QUESTIONS 
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